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Question

Marking Guidance

Comments.

05.1

1. Elastic tissue to allow stretching/recoil
smoothes out flow of blood/maintains pressure;

2. (Elastic tissue) stretches when ventricles
contract

OR
Recoils when ventricle relaxes;
3. Muscle for contraction/vasoconstriction;

4. Thick wall withstands pressure OR stop
bursting;

5. Smooth endothelium reduces friction;

6. Aortic valve/semi-lunar valve prevents
backflow;

4 max

05.2

1. Curve to the right so lower afinity/% saturation
(of haemoglobin);

2. Haemoglobin unloads/dissociates more readily;
3. More oxygen to cellsitissues/muscles;
4. For greater/more/faster respiration;

4. Idea of a higher
rate of respiration

053

16.5-18 (cm® minute™);

Allow 1 mark if heart
rate wrongly
calculated but then
multiplied by 0.03
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Question

Marking Guidance

Comments

06.1

1. Between 0.and 0.1 calcium (ions) cannot enter
by faciltated diffusion

OR
No diffusion gradient for entry into the cell;

2. Between 0.1 and 0.3 calcium (ions) enter by
facilitated diffusion;

3. As calcium (ions) enter without oxygen
OR
Oxygen is not required for faciltated diffusion;

4. Between 0 and 0.1 calcium (ions) enter by
active transport;

5. Movement is against the concentration
gradient;

6. As calcium (ions) only enter in presence of
oxygen/oxygen is required for active transport

5 max

Accept ‘they’ refers to
calcium ions

06.2

(She could have used) boiled (and cooled) water
OR
Layer of oil in top of solution;
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Question Marking Guidance Mark Comments
07.1 | Glucose (and glucose); 1
072 | (a1,4) Glycosidic; 1
073 1. Headings correct — mol dm™ and volume of 2
water / cm®;
2. Concentration correct. ie 0.2;
07.4 | Line of best fit drawn; 2

Read off value at 0.45;





image8.png
Question Marking Guidance Mark Comments
08.1 2
3 6 9
152|211 | 167
082 | 245; 2 | Useof the correct
denominator = 1 mark
083 | 1. More plant species; 3 | Allow converse for

2. More food sources/variety of food;
3. More habitats/niches;

barley field
3. More food = neutral
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09.1

Binary fission;

Reject mitosis

09.2

1. Keep lid on Petri dish
OR
Open lid of Petri dish as little as possible;

2. To prevent unwanted bacteria contaminating
the dish

OR

L monocytogenes may be dangerous/may get
out;

OR
3. Wear gloves
OR
Wear mask
OR
Wash hands;

4. To prevent contamination from bacteria on
hands/mouth

OR

Prevent spread of bacteria outside the lab;
OR
5. Use sterile pipette

OR

Flame the loop

OR

Flame the neck of the container of the culture;
6. To maintain a pure culture of bacteria;

4 max
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09.3

Cinnamon;
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1. Thyme is the most effective/best (at 4 °C);

2. Clove and cinnamon same effectiveness at
4°C as 35 °C (so suitable);

3. Bay and nutmeg are less effective at 4 °C than
35 °C (50 unsuitable);

Less kinetic energy
OR

Less movement of oil molecules/of phospholipid
molecules;

1max
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Question Marking Guidance Mark Comments
01.1 | Lactase hydrolyses lactose in to glucose (and 1
galactose);
012 | Nolactase in the mikk 1
OR
Enzyme can be reused;
01.3 | 100 cm® minute™" is too fast to bind to active 1
site/converse for 50 cm® minute™;
014 | 14.1(4); 1
015 | 1. Galactose is a compeitive inhibitor/attaches to | 2

the active site (of lactase);
2. Fewer enzyme substrate complexes formed;
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Question

Marking Guidance Mark Comments
021 | x20000 1| Accept range from
18 000 to 22 000
022 2 | 1 markfor each
correct column
v
v
v
023 | 1. DNA contains thymine and RNA contains 2

uracil;

2. DNA contains deoxyribose and RNA contains
ribose;
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Question Marking Guidance Mark Comments
031 | Student was measuring change in pH 1 max
OR
Buffer would maintain a constant pH;
032 | 1. Volume of suspension of liids; 2max
2. Concentration of suspension of liids;
3. Volume of lipase solution;
4. Temperature;
033 | Boiled lipase solution; 1
034 | -0.34=2marks 2
0.34= 1 mark
035 | 1. Fatty acids produced; 2
2. Curve levels off as all substrate used up; 2. accept the lower
pH inactivates/
denatures the
enzyme
036 | 1. Faster fallin pH and levels off at same point; 3

2. More enzyme=substrate complexes formed;
3. Same amount of fatty acids produced/product;
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Question Marking Guidance Mark Comments
041 DNA of evkaryotic cell has non-coding 2| Ignore references to
regions/introns within gene “cells need/bacteria
or do not need'
pre-mRNA contains non-coding regions/introns; 1. Allow converse:
(After transcription/during modification) these. g‘f‘;sﬁg’z‘;’;""yf:‘:‘:
regions are removed from (pre-JmRNA; pciorii
regions/introns in
DNA,
042 mRNA longer 2max
oR

Has more nucleotides than tRNA;

mRNA is a straight molecule but tRNA is a
folded molecule/clover-leaf shaped molecule;

mRNA contains no paired bases/hydrogen
bonds but tRNA has some paired
bases/hydrogen bonds;





